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Description:

The 4kHz signal is synchronized with the software processing for creation

of the resolver signal. This error message is created when

synchronization occurs improperly.
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Cause:



1. The synchronization of the resolver controller voltage is invalid
in regards to the software.

2. The error can be produced through an electrical discharge.
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Remedy:0 0 O 0O O
For 1. Exchange drive controller and return for testing.
For 2. Power down and then on. If this in not successful; exchange

drive controller.
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